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Candidates are required to give their answers
in their own words as far as practicable.
. i. Answer any five questions of the following :  5x2
{a) What is haemocytoblast ? 2
(b) What is phagocytosis ? 2
{¢) Define diapedesis and chemotaxis. 1+1
(d) What is the function of SA node ? 1+1
(e) Name the intemodal fibres of heart. 2
(f) What is Einthoven triangle ? 2
(g) Define allergen and give examples. 1+1
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(2)
() What are meant by toxin and toxoid 2 1+1
. Answer any four questions : 4x5

(@) Draw a flow chart for erythropoiesis. Name the
factors influencing this process. 3+2

(b) Describe the properties of an immunogen. 5

(c) What is anaphylaxis ? Discuss this porcess with
special reference to IgE. 2+3

(d) Define (i) Innate & Acquired immunity (ii)
Myasthenia Gravis. 2¥ax2

(e} Discuss the functions of immunoglobulin. 5

(f) Discuss the molecular structhure of a haemoglobin.
5

. Answer any one question : 1>xi0
(@) () Discuss the factors affecting cardiac output.

() What are the cardinal signs  of
inflammation ?

(i) Define erythroblastosis foetalis.
(iv) What is myocardial infarction ? 4+2+2+2
®) () What is heamopoiesis 7

() Write down the functions of different
compenents of blood.



(3)

@) Briefly discuss the process

coagulation.
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